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Python 3.4.2 (v3.4.2:ab2c023a9432, Oct 5 2014, 20:42:22)

[ GCC4.2.1 (Apple Inc. build 5666) (dot 3) ] on darwin

Type ”copyright”, ”credits” or "license()” for more information.
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>>>a="Hello World’
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>>>r=0.05
>>>pv=100/(141) #HAZETTT (>>>100/(1+0.05) EFWTH R L)
>>>pv
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>>>pv=120/(1+r)**2
>>>pv
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>>>c=120
>>>pv=c/(1+r)+c/(141)**2+c/(141)**3
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>>>from math import x*
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>>>from math import *

>>>log(2.56)
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>>>exp(0.05) (>>>e**0.05 THE)
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>>>import math as ma
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>>>ma.log(2.56)
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# computing of the Present value of the project

cash=[-4.0, 1.0, 1.2, 1.3, 1.1, 0.9] #H {7 I3REM

r=0.05
pv=cash[0]+cash[1]/(14r)+cash[2]/(141)**2+cash[3]/(1+1)**3+cash[4] /(1+r)**4+cash[5] / (1+1)**5
print("the present value of the project =, pv)
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wa=0
for i in range(10):

wa=wa-+i
print(wa)
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for i in range(10):
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# computing of the Present value of the project
cash=[-4.0, 1.0, 1.2, 1.3, 1.1, 0.9] #H 71X M
r=0.05
pv=0.0
for t in range(len(cash)):
pv=pv + cash[t]/(1+r)**t
print(’the present value of the project =, pv)
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